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Find the slope of the tangent line to the graph of the
given function at the given x value.

g(x):i/; x =32

' o
G) ‘S:\M\ 3(’(\ @ ab n X= 3 \;

\Y

3
%(X):SS;(/—X 3“(59):‘1_4/5 - -
0= S T

LY
5%



Day 4 - Power Rule cont. after.notebook

Example: J/ J-

qj‘ - m (X—X\)

November 15, 2016

Find the equation of the tangent line to the curve f(x) = x°

at the point (—?%, 64)

Remember that the equation of a line iz found

by uzing the point-slope formula. .. V—V, = mlx — X, )
e Find derivative

e Fill in x value and solve for slope
e Use equation of a line formula and solve

The curve is the graph of the
function f(x) = x 6 and we know that
the slope of the tangent line at

(-2, 64) is the derivative f'(-2)
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Sums and Ditferences

m These next rules say that the derivative of
a sum (ditference) of functions is the sum
difference) of the derivatives:

The Sum Rele If fand g are both differentiable, then

4o + gln] = = £l + = glx)
o fix) + gix T 0 + == gl

The Ditference Rule II fand g are both differentiable. then
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Demonstrate what this all means...

Differentiate each of the following:

Vs
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